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QUESTION 1

Which of the following is not a prime factor of 60? 

A. 2 

B. 3 

C. 5 

D. 6 

Correct Answer: D 

 

QUESTION 2

According to the passage, willow bark was used: 
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A. to treat pain. 

B. to upset the stomach. 

C. as a food. 

D. only in the ancient world. 

Correct Answer: A 

 

QUESTION 3

What can be inferred from the last three sentences? 
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A. The narrator wanted to swim in the water, but she was afraid that her father would punish her if she did. 

B. The narrator decided that it would be more fun to make a sandcastle because the ocean water was too cold. 

C. The narrator\\'s father was teasing her, because he knew that she is an excellent swimmer. 

D. The narrator forgot that she could not swim until her father reminded her. 

Correct Answer: D 

 

QUESTION 4

Sam needs to make a password that is four characters long. The first two characters must be alphabetical letters, and
the second two characters must be numerical digits from zero through nine. None of the letters or numbers can be used
more than once. 

How many different passwords are possible? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

QUESTION 5

A, B, C, and D lie on a line in that order. 

AC = 10 and BD = 8. 

Compare the quantity in column A to the quantity in Column B. 

A. The quantity in Column A is greater. 

B. The quantity in Column B is greater. 

C. The two quantities are equal. 

D. The relationship cannot be determined from the information given. 

Correct Answer: D 
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